*JER>TA M hewsx

Cm$¥H€910E®%5E%EFZF\
SEIHHAL.

N
{\/f EoTEHEEDE L |
*ERKEHEEDFITIR LB DL &

BB

WF

TR

HH

- =
(2] =

RASHEE
i

71.3

62.2 -

71.3

61.1-

58.2

EREIR
& DL

+13.2

+15.0 4

+16.5

+16.1

+14.6 -

*x RKXKEHZEEDRIR up_/

26.2 Uup_Jn58.81 K=s K 5§

D24 E &
Mzaw it R
O x4 El 58
Iap B F

Mzn 3 FF
Mzn 3 R
Taa R EE
Kza 8 F
Szntt &
Tz Bl 58
SaA B H
L= B F

3.6 Uup_Jw73.611 Sxx E 58
6.2 upto61.11r T=s K :E
Man 8% 4.1upfow63.9r N2 B F
4.7 up_J056.51 N =4 1§
3.3uptn66.8r 02 ft &
5.5up_Jon55.61 Daa 8 F

3.2 upto55.51 T4 E &

4.6 upto61.11n M4 E B
10.4 upJw68.3n Nz=n tt &
3.1upJw68.1n Yzr tt &

—& (giEtE) K

12.1 up_Jao57.4n
6.8 uUptn56.81 Kz=a B F 3.6 up_ton51.0x1
13.1 upJ059.4n
4.6 up_J065.51
5.7 up_to65.5n
3.8 up_tn40.11
4.6 upJn73.7n
13.9 upJ0n71.0n
3.5uptn67.71
3.2 upJo60.0x
6.1 up_Jn54.81
3.5up_tan58.51
6.5uptn70.71 Iz 8FE 8.7 uptn59.91




